Quiz 10

February 24, 2017

Show all work and circle your final answer

1. If y = 2%, set up sj(but do not evaluate) the integral for the area

of the surface obtained by rotating the curve fromz = 0toz =1
about the
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9 Find the exact length of the curve y = 2+ 613/2 from = () tn
=1

-I 1 f((o 2y k)" A

ds =11+ (44 ) du

{ [+ 2ix Ay



3. (a) What trig substitution would you use to evaluate f \/___

x? + b?
for a > 0,b > 07
(You may use the fact that va?a? + 0% = by/(3)*z* + 1.)
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(b) Use your substitution to rewrite the above integral as a trigono-
metric integral. Do not evaluate.
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